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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1819 8.4 5.2 27 31 99.9
2 1814 6.9 3.7 20 34.6 99.6
3 1809 3.6 2.4 13 27.8 99.3
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Question Answer Mark 
1. (b) (i) Suggest two suitable products that Lavish Ltd could 


diversify into, which are linked to their current product 
range. 


Award 1 mark for each appropriate suggestion 


Indicative content 


• Make up
• Gift sets
• A range of products for men
• Shaving products
• Sun products
• Candles
• Pampering


Accept any other related products 


2 


1. (b) (ii) Explain one advantage and one disadvantage of 
diversification to Lavish Ltd. 


Award 1 mark for identifying an appropriate advantage 


Award 1 mark for identifying an appropriate disadvantage 


Award 1 additional mark for each development - up to 2 marks 


Indicative content 


Advantage 
• Increase in sales/profit (1) as customers buy a larger range


of products (1)
• Spreading the risk not relying on current products (1)


especially if there is little room for growth in the current
market (1) so they can increase their sales by selling more
of the new products (1)


• Reaching new customers with the new products (1) this
would encourage new people to visit the business who
potentially could become regular customers (1)


Disadvantage 
• Entering the market that you have little experience/expertise


in (1) this could mean that the business owner wouldn’t
have the expertise to know how to encourage sales in the
new products (1)


• Current customers do not like the new products (1) this
could result in customers going to a competitor to make their
purchases (1)


• Losing space in the shops for established products (1) if the
new products don’t sell well this could lead to a decrease in
sales (1)


• Risk of investing and not recouping the cost (1)
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1
Full marks 
were given 
for the first 
part of the 
question 
with the 
candidate 
correctly 
identifying 
that the 
business 
could 
diversify 
into 
perfumes 
and men’s 
products.


For the second part one mark was given for the advantage that their income could grow with the introduction of 
the new product.  One mark was also given for the disadvantage as the candidate identified that the new products 
could be more expensive to stock than their current range.  No marks given for development in this answer. 
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The candidate correctly identified two products the business could diversify into that would link with their 
current product range i.e make up and skincare.
The candidate then provided a good clear advantage and disadvantage of diversification.  An advantage 
would be that the new products could attract new customers, the development was correctly identifying that 
this could lead to more sales.  The disadvantage given was that the customers may not like the new range 
which would lead to losing money spent on stocking the new range. 
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One mark was given for soaps but towels was not given any 
marks as the new products had to be linked to the current 
range and there was no mention of them stocking anything 
other than bath or shower products or face or body 
products.


For the second part of the question one mark was awarded for identifying that the sale of the new products could lead to 
higher profit. No development was given. The second mark was given for the statement that the shop had to be careful 
to pick a product that was related to their current range or it could lead to fewer sales for the new line. The development 
was considered too vague to be awarded the second mark.
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Lavish Ltd is considering diversifying its product range.


(b) (i)	 Suggest two suitable products that Lavish Ltd could diversify into, which are linked
to their current product range. [2]


(ii) Explain one advantage and one disadvantage of diversification to Lavish Ltd.	 [4]


Advantage:


Disadvantage:  
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Question Answer Mark 
2. (b) Explain one advantage and one disadvantage to Michael 


Stone, of selling last season’s range at discount prices. 


Award 1 mark for identifying an appropriate advantage 


Award 1 additional mark for appropriate advantage development 


Award 1 mark for identifying an appropriate disadvantage 


Award 1 additional mark for appropriate disadvantage 
development 


Indicative content 


Advantage 
• To recover some of the costs (1) even though they may not


be priced to make a profit (1)
• Encourage new customers (1) who might return and buy full


price items at another time (1)
• The fashion market is seasonal (1) it will lose popularity


quickly (1)
• To get rid of stock quickly (1) release space (1) improve


cash flow (1)


Disadvantage 
• Employ someone to distribute stock (1) posting (1)
• It could lower the image of the business (1) as not


associated with the price expected from a designer
brand (1)


• It will reduce profits (1) will the discounted prices allow them
to cover the unit costs (1)


• Customers may wait for the discounts (1) this could stop
them from buying at full price at a different time of the
year (1)


4 


2. (c) (i) Describe, with the use of an example, what is meant by 
ethical trading. 


Award 1 mark for each valid point 


Indicative content 


• when a business is doing the right thing (1)
• this could include paying your workers a fair wage (1)
• sourcing products ethically (1)
• having safe working conditions for your workers (1)
• using positive images in marketing campaigns (1)
• being environmentally friendly (1)
• fair trade
• environmentally friendly packaging
• producing products in the UK
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This candidate achieved full marks for this answer.  The marks were awarded for identifying that 
ethical businesses pay their workers a fair wage.  The second mark is awarded for explaining that 
workers operate in safe working conditions.  The final mark was awarded for connecting to 
businesses using fair trade products.
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The marks were awarded for identifying that fair trade can be part of ethical trading.  The second mark was awarded for knowing 
that ethical businesses make sure that they provide a safe working environment for their workers.
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0


Although a detailed answer was given by this candidate, they were not awarded any of the three marks available.  
The points made are linked to unethical trading rather than ethical trading. It is essential that candidates read 
the question carefully and their answer must answer the set question. 
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(b)	 Explain one advantage and one disadvantage to Michael Stone, of selling last season’s 
range at discount prices. [4]


Advantage:


Disadvantage:


In recent months Michael Stone has been accused of unethical business practices because 
he produces some of his garments abroad and uses low paid workers in dangerous working 
conditions.


(c) (i)	 Describe, with the use of an example, what is meant by ethical trading. [3]2
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Question Answer Mark 
3. (a) Calculate the increase in passenger numbers between 2015 


and 2016. 
 
Award 1 mark for correct answer 
 
823 990 


1 


3. (b) What is meant by a transport hub? 
 
Award 1 mark for limited definition 
Award 2 marks for developed definition 
 
Indicative content 
 
A transport hub is a place where passengers and cargo are 
exchanged between vehicles or between different types of 
transport (1) These include bus stations, train stations, tram 
station, airports and ferry ports.  There are often a variety of retail 
outlets within the transport hub (1) 
 
Accept service station for this question 


2 


3. (c) Explain ways in which a retail shop in a transport hub may 
differ from a retail shop on a high street. 
 
Award 1 mark for identification of how retail businesses adapt – 
up to 2 marks  
 
Award 1 mark for each developed point 
 
Indicative content 
 
• A smaller floor space (1) transport hubs usually have 


smaller spaces as they will prioritise certain products 
suitable for travellers and commuters (1) narrower aisle 
space (1) 


• The business may only need to offer a smaller range of 
goods in the transport hub than the high street (1) stocking 
only those items that would be popular with travellers (1) 


• Merchandising (1) use of different display units to maximise 
space (1)  


• Increase prices (1) as there is a captured market (1) 
• Introduce new products for travellers and commuters (1) 


target market (1)  
• opening times (1) longer hours (1) 


4 
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One mark was awarded for giving the correct example of a train station but the definition of a 
transport hub was too vague to be awarded a further mark. The mention of  ‘a way of 
transportation’ is unclear and does not demonstrate knowledge of a transport hub. 
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The candidate achieved full marks for showing a clear understanding of a transport hub. The 
candidate was awarded 1 mark for for train station. If a candidate said airport, this was not 
awarded any marks as this was in the given scenario.  The candidate was awarded  the second 
mark for saying that the transport hub has high street shops within it. 












0


No marks were awarded to the candidates as the answer is vague and does not refer to a 
transport hub, but transport in general. No valid examples were given of any transport hubs.  
They also did not mention that retail outlets are located in a transport hub.
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3.	 Study Scenario 3 which gives information on a retail location.


Scenario 3


Bristol Airport is one of the UK’s fastest growing regional airports. The number of 
passengers who pass through this transport hub has continued to grow in recent 
years:


As well as the duty free store there are a number of well-known retail businesses 
located in the airport including Accessorize, Superdrug, WH Smith, M&S Simply 
Food, Claire’s and JD Sports. Passengers are required to check into the airport at 
least 2 hours before their flight. 


	 (b)	 What is meant by a transport hub?	 [2]


	


	


	


	


Year Number of passengers


2016 7 610 780


2015 6 786 790


2014 6 339 805











